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1. Evaluate the § dlowmg linuts
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2. (a) Find the constants @ and b so that the function
ar® + b y < ~1
fla)={ 20?4+ a , =l<z<0
vaT-vEnr ¢ 2>0

is continuous for all .
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(b) Use the definition of derivative to find the slope of the curve y
r=2
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3. (a) Apply the Mean Value Theorem to the function f(z) = sinz to show that

sinr >z for z < 0.
£ $OO=sinx , then {1GI=cosx. |
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Muhiply both side by X<0,
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(b) Solve the second order initial value problem
y' =z +sinz
y(0) =2
y(0)=0
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(b) Find f-!?- for Z+4w-11=4
dx
= 2*+8(y-l)¥y=0o

—_—'-'—D é *-.3 "“‘X
3-(3-3) T e

Y1) baey) 4




